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Run 6002 quartetwise, PosHelAcc0/NSamples(: All Run 6002 quartetwise, PosHelAccO/NSamples): Beam OFF

_ qUE.I'tE'tWiEE_FIEIEH'D quarebwise_beaml pasHd
— - Entries 218857 — Entries 72757
45000 — Mean B.777 | Mean 01671
— Std Dev 6.626 2500 — Std Dev 0.1073
40000 — B
35000 — 5000 —
30000 — B
25000 — 1500 —
20000 — | B
— 1000 —
15000 — B
10000 — 540 .
5000 F— 1 -
'D - 1 1 Ir | 1 1 1 1 -I-—I-—J—h— Ll I | I—-F'-I_IT""" ] — 1 1 1 | 1 1 | | 'D T | 1 1 | | |
—2 D 2 4 B B 10 12 14 16 18 0.2 0 0.2 0.4 0.6
PosHelAccO/PosHelNSamplesD PosHelAccO/PosHelNSamplesD
Run 6002 quartetwise, PosHelAccO/NSamplesh: Beam ON, Laser ON Run B002 quartetwise, PosHelAccD/NSamplesl: Beam ON, Laser OFF
45':"[:' guansiwiza boami las? posHc guamnshwiza boami lasl posHEo
— Entries 46079 1800 — Entries 40586
4000 = Mean 15.26 — Mean 3.265
— Std Dev 0.728 — Std Dev 0.3186
— 1600 —
3500 — —
— 1400 —
3000 — —
2500 = 1000 —
2000 — 200 :_
1500 :— 600 :_
1000 — 400 —
500 - 200 —
.D:|||_||||_-l_-—|—-"'-"|_'|"—"'--|—' L 'D:I"" i
B 10 12 14 16 18 1.5 4.5

PosHelAccO/PosHelNSamplasD ' " PosHelAcch/PosHelN Samplesd



50000

40000

30000

20000

10000

5000

4000

3000

2000

1000

Run 6002 quartetwise, Sums0: All

quartetwize_summbD

- _ Entries 218857
— Mean 13.86
B Std Dev 13.61
_I | I|-| -‘ »J’h‘ J..—-h..l-—’h—._l_ | o I—I'H_ILLI- Ly | —t 1 1 1 I |

0 5 10 15 20 25 30 35

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSampleso

Run 6002 quartetwise, Sums0: Beam ON, Laser ON
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